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OUAERUZ NAMEELE I XA 700,000
OHAXIAHR Y - 252t 484,730 2,494,543 A2,009,813
J| 126,604
< 79,414
Al 278,712
S$HZXA X M2 73,941 935,510 A 861,569
< 28,000
Al 45,941
MAMAREE 22l 43,511 42,622 889
101 Q1 24l 21,125 21,236 A1
VBIENEEP TP 21,125 21,236 AT
ofiggzael 22 B 21,125
=llesg 69,760 * 1 = 238 16,603
oxELY 69,7602 * 1% 342 2,372
o 2HAlYH| 5,000& = 198 = 230 1,150
o EEFIHHI 500,000& = 23l 1,000
201 £B-2dH| 7,386 6,386 1,000
01 At 22l 2,000 1,000 1,000
OfIggsiae 2,000
02 2324l 5,386 5,386 0
OHIIRS 360,000& = 123 4,320
Ox=&e= 80,000& » 123 960
Os &l 8,800& » 12& 106
401 AIEHI L 2CHEI 15,000 15,000 0
01 A& tl 15,000 15,000 0
OMHTARZEE S3FHAEY 15,000
A TAL RIS 28,000 28,000 0
< 28,000
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ot 254 2,430 3,888 A 1,458
202 4 Hl 2,430 3,888 A 1,458
01 = LH 4 Hi 2,430 3,888 A 1,458
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WX ==2el 410,789 1,559,033 A 1,148,244
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201 Let2d] 2,500 3,200 A700
01 At 221l 2,500 3,200 A700
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50,000& = 80K 400
ONUHXIZE 2285 & 3,000& * 7004 2,100
JbA - HIIAIE JHE K& 8,400 8,400 0
< 2,520
Al 5,880
403 Mt S S X201 & 8,400 8,400 0
< 2,520
Al 5,880
02 SO 2SOICHSH A2 X 2| &AM I 8,400 8,400 0
ONLASS HIAIE HEAY 8,400
< 2,520
Al 5,880
ATHAEU X XIS X2 A 187,448 68,778 118,670
J| 55,604
Al 131,844
201 L4l 6,400 6,400 0
01 At 2t 2l 800 800 0
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02 232gl 5,600 5,600 0
OATHMUUHXIZH 2322 5,600
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J| 55,604
Al 123,014
01 Al& H| 178,618 58,490 120,128
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J| 46,847
Al 98,062
OATHMNHK KNEXNFAL(SCIHAEGSRA
) 33,709
J| 8,757
Al 24,952
MBS JAAIAE A 972 27,228 N 26,256
202 044l 972 1,944 N972
01 2L Y| 972 1,944 N972
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J| 71,000
& 9,900
Al 29,100
401 AlEHIZL £ 0HY| 110,000 13,000 97,000
J| 71,000
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Al 29,100
01 Al&H| 110,000 13,000 97,000
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J| 15,000
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Al 12,500
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& 9,144
Al 21,336
402 SI2FXHE0| M 30,480 30,480 0
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= 9,144
Al 21,336
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< 1,800
Al 4,200
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< 1,800
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= 1,800
Al 4,200
SHE dII3= AL 56,100 56,100 0
< 28,050
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< 28,050
Al 28,050
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Os0HE AISSAY 56,100
< 28,050
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308 XXM S0l A 8,889 57,750 AN 48,861
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el 2 34,754 32,134 2,620
ol 2| 34,754 32,134 2,620
101 124 dl 34,754 32,134 2,620
03 RIAHAZZ2TE = 34,754 32,134 2,620
OFGAEA 22X Ex(BHARA, 753) 34,754
cJIE= 1,942,213& * 128 23,307
c¥ 2 1,942,213& = 35% * 75% *» 23| 1,020
o H A F I 1,942,213&  60% * 23| 2,331
CcHIIRSFIINTE 96,390& » 18« 1,736
oM ATHSH 150,000& * 12& 1,800
o Z UG AH| 120,000& * 12& 1,440
ol 150,000& * 12& 1,800
oA 110,000& » 128 1,320
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203 YR =&l 9,200 10,200 A1,000
01 JI22H =4 5,000 6,000 A 1,000
OZHMHE=& 5,000
04 ENSIHRF=EHI 4,200 4,200 0
ORN2IYS =2 350,000& = 12& 4,200




